Jay 0 > = .
FOTRHAFMESNMZHESMBERRESTOT T L (FHi24E10A298 1 EREXS)
= % BH1EY v ERES HALY E k= FE= BT FEe
o= 105 104 201 202 204 203 305 307
YN
| e 1 ekl kIl A [Rab1 e (RN P S B 5
9:00 | 101  Zawawi | 201 N 301 YEH 401 HZEE | 501 FH = 601 FH R 701 = 801 N
9:15 | 102 Heng 202 =K 302 NI 402 AR 502 2 602 7 H 702 s 802 Ji A
9:30 | 103 Lonn 203 AT 85 303 Ak 403 )1 503 5 e CRF) | 703 =N 803 HiF
9:45 | 104 L 204  {FHisn | 304 15 404 7 504 B 603  E 704 JIEN= S 804 #H
10:00 |&rif (&) aem (@B | RhEs GEA) [#hEa CkH)  [&Fa (81 | 604 M [FhEe (BFR) [Fhs (&)
10:15 | 105 5 205 Z 9l 305 PRI 405 FH 505 = 605 ESEA 705 K 805 1L
10:30 | 106 el 206 HE 306 HK 406 15 [if] 506 %k tam CIrE) | 706 = B 806 /N
10:45 |Ffam  CKHhb) | 207 1D 307 (L)1 407 = 507 ek 606 A 707 &R 807 i
11:00 | 107 ¥ H aEm o CKH) | 308 38 408 I 508 T 607 FH 708 = IRy 808 xR
11:15 | 108 R 208 &K 309 AL 409 ER 509 M 608 R e (FER) [#hEm (89H)
11:30 | 109 Bl 209 [ 310 v i e (TEH) | &6 () 609 15} n]
11:45 [&fa (QUH) | &hEa  GoUEp) | &hs () i (B
12:00
13:00 [110 JK 210 WE [311 % [410  JEk [510  #JFW [610  &AF [709 T [809 &%
13:15 | 111 (L 211 e gy 312 iy 411 ve4H | 511 W 611 XA 710 =i 810 gt
13:30 | 112 W+HE | 212 i atam (i) ] 412 B 512  EXK4 | 612 % 711 e 811 JIA
13:45 | 113 K P OGkE) | 313 A 413 R 513 /MR 613 KRB BfEm (k) [ 812 78 H
14:00 [&fem  (BLl) | 213 H 314 2 H 414 WA (#Es (BEW) [#hEs (W) | 712 A7k aEm (BER)
14:15 214 Lk 315 ik e (&) | 514 = IR 614 A 713 BB 813 Hria
14:30 215 AT 316 u| 515 G % 615 22 714 T 814 -
14:45 216 P | FEe (FE) 516 pl] 616 AiE (e (EIF) | 815 )
15:00 217 5 317 Jemali 517 BT 617 8 [ 816 BEA
15:15 e (GFR) | 318 JE.M e (B | FEe (RER) e (REP)
15:30 218 FE 319 FH
15:45 219 A 320 ER
16:00 220 N | B (GHR)
16:15 221 EHH
16:30 it QR
*FEREEM X129, B3N, REIRISH TT . (FTH107. REf125 . #£8515%9)

HREEB T

ZE(X1028%ETY,




